3-26-92 Form ACO-1 (7-91)

			21DE LAD				E 1/2 3	
perator Name	OXY USA IN	IC.	Lease Name	Ray B		Well #	5 ** *	
] East	County	Phill				
e. 32 Tvp. 58	Rgo. 20	∑ west			•			
terval tested, time	e tool open an , bottom hole t	and base of formati d closed, flowing emperature, fluid ro py of log.	and shut-in pres	ssures, whet	her shut-in pre	ssure read	ched static lev	
-ill Stem Tests Take (Attach Additional		☐ Yes ☒ No	Log	Formatio	on (Top), Depth	and Datums	• • •	
amples Sent to Geolo	ogical Survey	⊠ Yes □ No	Topeka		Тор 3184	. 1	3333 '	
res Taken		☐ Yes ☐ No	Heebner		3333	3 1 .	3360 ' 3376 '	
ectric Log Run (Submit Copy.)		X Yes No	Lansing	Toronto 3360' Lansing 3376' TD				
ist All E.Logs Run:			PBTI)			3679 '	
Ran Spec. Densi	Induction	-	g.		production, et			
urpose of String	Size Hole Drilled	Size Casing Set (In Q.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Perce	
Surface	12½"	8 5/8"	24#	380'	Class A	270 s	* 3% CC.	
Production	7 7/8"	5½" ·	14#	3693 '	Howes Ligh	t 675	¼# sx FTc	
		ADDITIONA	L CEMENTING/SQUE	EZE RECORD		L	<u> </u>	
urpose:	Depth			[
Perforate	Top Bottom	Type of Cement	#Sacks Used		Type and Percen	t Additive	6	
Protect Casing Plug Back TD			,	<u> </u>				
Plug Off Zone	<u> </u>							
Shots Per Foot		RECORD - Bridge Plu e of Each Interval	• ••	Acid,	Fracture, Shot, d Kind of Hater	Cement Sq fal Usad)	ueeze Record Depth	
<u>.</u> _	Set CIBP @	3618		250 ga1	of 15% MCA		3621 '- 23	
4	Reagan	3612'-14'						
			•					
TUBING RECORD	Size 2 7/8	Set At 3660'	Packer At	Liner Run	☐ _{Yes} ☑	No		
	ed Production,	SWD or Inj. Produ	ucing Method F	lowing Pu	mping Gas L	112 Ot	her (Explain)	
Date of First, Resum 1/24/92	·							
1/24/92 stimated Production Per 24 Hours	OIL	Bbls. Gas	Mcf Wate		Gas-Oil	Retio	Gravity	
1/24/92 stimated Production			Mcf Wate	330	Gas-Oil		Gravity	

_

CUSTOMER COPY

INVOICE

HALLBURTON SERVICES

REMIT TO:

P.O. BOX 951046 DALLAS, TX 75395-1046

INVOICE NO.

A Halliburton Company 63716 WELL LEASE NO /PLANT NAME WELL/PLANT OWNER 800 000 00 LIPS KS OXY USA JOB PURPOSE SERVICE LOCATION CONTRACTOR TICKET DATE 12/13/1991 PRODUCTION CASING **DBERLIN** FILE NO. ACCT. NO. **CUSTOMER AGENT** SHIPPED VIA 659167 JIM NOWELL COMPANY TRUCK 27223

> OXY USA INC. REGIONAL OFFICE ATT: G. I. MCFARLAND PO BOX 26100 OKLAHOMA CITY, OK 73126-0100

DIRECT CORRESPONDENCE TO:

FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT	3
509-406	SALT	1	SK	26.25	26.25	ø
504-316	HALLIBURTON LIGHT W/STANDARD	550		6.28		#
507-277	HALLIBURTON-GEL ADDED 4%	19	SK	14.75		¥
507-210	FLOCELE	138	LB	1.30	•	ż
509-968	SALT	400	LB	.10	40.00	
500-207	BULK SERVICE CHARGE	781	CFT	1.15	898.15	y
500-306	MILEAGE CMTG MAT DEL OR RETURN	7 988.79	TMI	.80	791.03	ş
	INVOICE SUBTOTAL					
	olo				9,533.98	
· ·	DISCOUNT-(BID) \mathcal{V}^0				1,906.79-	
	INVOICE BID AMOUNT				7,627.19	
	·					
	*-KANSAS STATE SALES	1			276.16	
	*-DECATUR COUNTY SAL	ES TAX			64.98	
	9-1572498 X	2360 1/1	224	1		
					'	
				4.		
,	•	KALL A	En	Pill R 2	,	
		"ANSAS C	DAPOR	SIVED TION COMMISSION	•	
		000		"I'VN COMMISSON		
	32	CCO AL	PR a	0 1992		
,	52		" 4	1992		
•) CONSER	VATO			
		5. W	CHIT	V DIVISION		
		the bare Manne	-1114	N DIVISION KS		
	INVOICE TOTAL - PLEASE PAY THIS	AMOUNT ==			\$7,968.33	

AFFIX JOB TKT

INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED, CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18% PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF 20% OF THE AMOUNT OF THE UNPAID ACCOUNT.

INVQICE 7

659167

WELL LEASE NO /PLANT NAME

JIM NOWELL

REMIT TO:

P.O. BOX 951046 DALLAS, TX 75395-2046

INVOICE NO.

A Halliburton Company 900 GD goo

37 16 12/13/199 WELL/PLANTOWNER

163716

PHILLIPS RAY B-5 JOB PURPOSE SERVICE LOCATION CONTRACTOR

OXY USA INC TICKET DATE

DRIG.ÉIÑG **DBERLIN** CUSTOMER AGENT ACCT. NO.

PRODUCTION CASING 12/13/1991 SHIPPED VIA FILE NO.

E-26

27223 COMPANY TRUCK

OXY USA INC. REGIONAL OFFICE ATT: G. I. MCFARLAND PO BOX 26100 OKLAHOMA CITY, OK 73126-0100 DIRECT CORRESPONDENCE TO:

FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
PRICING AD	EA - MID CONTINENT				
000-117	MILEAGE	30	MI	2.60	78.00
		ī	UNT		
001-016	CEMENTING CASING	3695	FT	1,240.00	1.240.00
		. 1	UNT		,
1.2A	GUIDE SHOE - 5 1/2" 8RD THD.	1	EA	105.00	105.00
825.205	The second of th		1 m	Depter State of the state of th	1 2 1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
030-016	CEMENTING PLUG 5W ALUM TOP	5 1/2	IN .	50.00	50.00 *
		1	EA		
24A	INSERT FLOAT VALVE - 5 1/2"8RD	1	EA	83.00	83.00 *
815.1925					
27	FILL-UP UNIT 5 1/2"-6 5/8"	. 1	EA	30.00	30.00 *
815.1931					
40	CENTRALIZER 5-1/2" X 7 7/8"	10	EA	44.00	440.00 *
807.9302		,			
320	CEMENT BASKET 5 1/2"	3	EA	90.00	270.00 *
800.8883					
807.0007	ROTO WALL CLEANER 2 1/8" SPIKE	1	EA	22.00	22.00 *
66	FASGRIP LIMIT CLAMP 5 1/2"				
807.6403		2	EA	11.30	22.60
350	HALLIBURTON WELD-A	4	T 75	11 50	
890.1080		1	LB	11.50	11.50
504-308	STANDARD CEMENT	90	SK	6.75	607.50
508-127			SK	19.70	78.80
509-968	CAL SEAL SALT KANSAC CAN SALT	WED 390	LB	.10	39.00
507-775	SALT KANSAS CURPORA	TON COMMISSIANS	LB	6.15	264.45
507-970	ID-AIR 1. POWNER	221	LB	2.95	67.85
504-308	STANDARD CEMENT APR 2	1960 35	SK	6.75	236.25
508-127	CAL SEAL	. 41	SK	19.70	78.80
509-968	SALT CONSERVATIO	152		. 10	15.20
507-775		N DIVISION 16	LB	6.15	98.40
507-970	D-AIR 1, POWDER	1, KS 9	LB	2.95	26.55
	**** CONTINUED	N NEXT PAG	. **	***	,
	TERMS INVOICES DAVABLE NET BY THE 20TH OF THE EC				

AFFIX JOB TKT.

TERMS INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED. CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18% PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF 20% OF THE AMOUNT OF THE UNPAID ACCOUNT

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395 1046

STOLLUE

25 8 1 1

HALLBURICH SERVICES A Halliburton Company

SWELL BLANT LOCATION

163573 12/08/1991 WELL/PLANT OWNER

1.41.F ₹5 OXY

CONTRACTOR SERVICE LOCATION JOB PURPOSE TICKET DATE A L 8 18 18 16 SURFACE CASING 12/08/1991

CUSTOMER AGENT ACCT. NO. CUSTOMER P.O. NUMBER SHIPPED VIA FILE NO. COMPANY TRUCK NOME. 26880

> "478 X Z DIRECT CORRESPONDENCE TO:

OXY ULA INC. REGIONAL OFFICE ATT: G. L. MCFARLAND PO BOX 26100 ORLAHOMA CITY, OK TUILS 0100

FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050

OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	l u/m	UNIT PRICE	
	T.	COANTILL	G/W	UNIT FRICE	AMOUNT
RICING ARE				,	
(0) 117	MILEAGE	50	MI	2,60	130,00
		1			
V1 018	CEMENTINE CASING	383	FT	515.00	515.00
		1	UNT		
<i>:</i>	CENTRALILER 8.5, 8" X 12, 25"	3	EA	62.00	186.00 *
27 93 11 9	`	* * * **	, 4. ,		• ~
1 , 1 *	HALLIBURTON WE. 11-7	1	L3	11.50	11.50
. 50.10)	1				
2.70° . 03	CMTG PLUG LA 1 .C. 1,CP-3,TOP	8 5/8	1 :	90.00	90.00
		1	EA		
. + 108	STANDARD CEMEN	270		6.75	1,822.50 *
106	ANHYDROUS CAL. M THLORIDE	3	SK	26.25	210.00 *
210	FLOJELE	6.3		1.30	88.40
. 207	BULK SERVICE 'I VRUE	291		1.15	334.65
	MILEAGE CMIG A SEL OR RETURN	653.70	TMI	.80	522.96 *
	\$ 3559.79 1 Are 21				annensig ein ihngereggive Workensterster, mit er spisseningege Vors Filterenten m
	INVOICE STRUCTAL				3,911.01
	\$1.5°				
	DIECONO (BID) INVOICE AMOUNT				782.20-
	THACTCE . T. VELOUMI				3,128.81
	* TATE SALES	PFI BA 12			
	* COUNTY SALE				107.99
		LO LAA			25.41
	KANSAS CORPODATION				क्षा विकास का का विकास कर कर का का हरू हर का आहे. कहा
	KANSAS CORPORATION COMMISSION				
	COMMISSION				
	Notice	-		006	•
	APR 2 0 1992	32		000	
	1				
	CONSERVATION DIVISION WICHITA VO			Shop 1	
	WICHITA			900/	'
	WICHITA, KS SEE PAY THIS	AMOUNT ==		1. 在 超 题 题 写 器 题 器 题 数 3	\$3,262.21
					19 w g 40 w 40 40 40 40

FERA JOB TAL

TERMS
INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED, CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18% PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT, CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF THE AMOUNT OF THE UNPAID ACCOUNT.



Box 26100, Oklahoma City, OK 73126-0100 Telephone 405 749-2000

March 23, 1992

Kansas State Corporation Commission Conservation Division 200 Colorado Derby Building Wichita, Kansas 67202

RE:

Well Completion Report

Ray B #5

NW/4 Sec. 32-5S-20W Phillips County, Kansas

Gentlemen:

The following items are being submitted for the referenced well which has been recently completed:

- 1. Form ACO-1, Well Completion;
- 2. A set of electric logs;
- 3. Cement tickets.

Please advise if additional information is required.

Sincerely yours,

Raymond Hui

Mid-Continent Region

RECEIVED
KANSAS CORPORATION COMMISSION

MAR 15 1993

CONSERVATION DIVISION WICHITA, KS

Attachments

FORM MUST BE TYPES	SINE CRE
STATE CORPORATION COMMISSI! WE KANSAS	APE NO. 15- 147-20538
OIL & CAS CONSERVATION SION	County Philips
WELL COMPLETION FORM ACO-1 WELL HISTORY	
DESCRIPTION OF WELL AND LEASE	CNW SW NW Sec. 32 Tup. 5S Rge. 20 X
Operator: License #	3630 Feet from 3 N (circle one) Line of Section
Name: OXY USA INC.	4950 Feet from F/W (circle one) Line of Section
Address P.O. BOX 26100	
	NE, SE, NW or SW (circle one)
OKLAHOMA CITY, OK 73126-0	Ray B Vell # 5
City/State/Zip	Field Name Ray
Purchaser: Citgo	Producing Formation Reagan
Operator Contact Person: RAYMOND HUI Jerry Ledlow	Elevation: Ground 2214 KB 2219
Phone (405) 749-2471	
Contractor: Mano: Allen Drilling Company	Total Depth 3700 PBTD 3618
License: 5418	Amount of Surface Pipe Set and Cemented at 380 Feet
Wellsite Geologist: Bill Keller	Multiple Stage Cementing Collar Used?Yes X No
	If yes, show depth set Feet
Designate Type of Completion X New Well Re-Entry Workever	If Alternate II completion, coment circulated from
X OIL SWD SIOW Temp. Abd.	feet depth to w/ sx cmt.
GAS ENHR SIGU	
Ory Other (Core, WSW, Expl., Cathodic, etc) Drilling Fluid Hanagement Plan (Data must be collected from the Reserve Pit)
If Workever/Re-Entry: old well info as follows:	
Operator:	Chloride content 824 ppm Fluid volume 260 bbls
•	
Well Name:	
Comp. Date Old Total Depth	Location of fluid disposed life hauled offsite:
Deepening Re-perf Conv. to Inj/SWD Plug Back PBTD	KANSAS CORPORATION COMMISSIO
Plug Back PSTD PSTD Commingled Docket No.	Operator Name
Dual Completion Docket No.	Lease Name NAR 15 1993License No
Other (SWD or Inj?) Docket No.	Quarter Sec Twp \$ Rng E/W
12/8/91 12/14/91 2/5/92 Soud Date Reached TD Completion Date	CONSERVATION DIVISION
Spud Date Date Reached TD Completion Date	County WICHITA, KS Docket No.
I and the second	
Derby Building, Wichita, Kanses 67202, within 120 days	ill be filed with the Kansas Corporation Commission, 200 Colorado of the spud date, recompletion, workover or conversion of a well.
Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information o	m side two of this form will be held confidential for a period of
12 menths if requested in writing and submitted with t	he form (see rule 82-3-107 for confidentiality in excess of 12
MUST BE ATTACHED. Submit CP-4 form with all plugged	report shall be attached with this form. ALL CEMENTIMS TICKETS sells. Submit CP-111 form with all temporarily abandoned wells.
with and the statements herein are complete and correct to	uigated to regulate the oil and gas industry have been fully complied the best of my knowledge.
VN P	
Signature VIC TUMLI	K.C.C. OFFICE USE ONLY
TitleDRILLING OPERATIONS MANAGER Date	3/23/92 F Letter of Confidentiality Attached Wireline Log Received
Subscribed and swern to before se this	Geologist Report Received
19 92.	Distribution
Hotary Public Kelly N- Undrew	KCC SWD/RepNGPA KGS Ptug Other
Date Commission Expires 8/19/95	(Specify)

			915E 180				
perator Hame	OXY USA IN	C `	Lease Hame	Ray B		_ Well # _	5
		T ⁽ J Face	County	Philli	ns.		
e. 32 Tup. 58	Rge. 20	T Line					
ISTRUCTIONS: Show in	mportant tops : tool open and bottom hole to	and base of formation of closed, flowing a emperature, fluid re					
f more space is neede	d. Attach con		Log				
rill Stem Tests Taker (Attach Additional	t Sheets.)		Log	Formation	i (Top), Bepth : Top	nd Datums	Sample Datum
amples Sent to Geolog	gical Survey	⊠ _{Yes} □ _{Ne}	Topeka		3184		33331
ores Taken		Tyes The	Heebner		3333 3360		3360 ' 3376 '
lectric Log Run (Submit Copy.)		☑ Yes □·Ne	Lansing TD	;)	3376		3700' 3700' 3679'
ist All E.Logs Run:				,			
Ran Spec. Densi High resolution	ty Dual Spa Induction	ced NeutronII; Log & Micro Lo	g		\		
	Report al	CASING RECORD L strings set-candu	X New U		production, et	ı.	
Purpose of String	Size Hele Drilled	Size Casing Set (In 0.9.)	Weight Lbs./Ft.	Setting Depth	Type of Gement	# Sacks Used	Type and Percen Additives
Surface	12½"	8 5/8"	24#	380 '	Class A	270 s	3% CC.
Production	7 7/8"	5½" ·	14#	3693'	Howes Ligh	t 675	¼# sx FTo
		AMDITIONA	L CEMENTING/SQUE	EZE RECORD			
Purpose:	Depth Top Bottom	Type of Coment	#Sacks Used		Type and Percen	t Additive	•
Perforate Protect Casing Plug Back TB Plug Off Zone							
Shots Per Fact		RECORD - Bridge Pl e of Each Interval			Fracture, Shet, d Kind of Hater		Queze Record Depth
	Set CIBP @	3618		250 gal	of 15% MCA		3621'-23
4	Reagan	3612'-14'					
				į			
				İ			
TUBING RECORD	\$1ze 2 7/	8" 3660'	Packer At	Liner Run	□ ,,, 및	Ne	
Date of First, Result 1/24/92		, SWO or Inj. Prod	Musing Method	Flowing P	mping Gas t	ift 🗆 o	ther (Explain)
Estimated Production Per 24 Hours	n 01L	Sbis. Gas	Hef Vat	er 861s. 330	Gas-Qi	Ratio	Gravity
Disposition of Gas:			Hale Perf		y Comp. 🔲 Com	ingled	Production Inter
(If vented, su	omit ACQ-18.)	athe	er (Specify)				